

#### Pay Estimate Created Date: October 2, 2023

Progress Estimate Number 10 10 Contract		e	230120-F04 Start 2023 N.B. West Contracting Pay Period End Septe		September 1 2023 September 3 2023	30, Net C Amo	hange Order unt	Amount \$13,83 \$45,00 Amount \$13,92	00.00			
Approval Da	ate									Ву	User	
October 2, 202	23			Generated and	Approved (a	and should be co	onsidered Dra	ift) at the Proj	ect Office Lev	el by	dansba	
October 2, 202	23			Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by du								
October 3, 202	23				Reviewed a	ind Approved at	the Central C	Office Controll	ers Office Lev	el by	ramses?	
Original (	Completion Da	ate	Curi	rent Completion Date	Actua	I Completion D	ate	% of Curre	ent Contract	Amount Comp	lete	
Septer	nber 27, 2024		S	September 27, 2024					17.42%	6		
Contrac	t Information	al Dates				N	lilestones					
Date Description	Original Completion Date	Curren Complet Date		Date Description				Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days	
Acceptance Date				Milestone - Calendar Time section 3.4, \$1000 per 15 n				July 30, 2023	July 30, 2023	-65		
Awarded Date	February 8, 2023	February 2023	8,	being open.jjj								
Letting Date	January 20, 2023	January 2 2023	20,									
Notice to Proceed Date	March 13, 2023	March 13 2023	<b>;</b> ,									
Open to Traffic Date												
Work Began Date												

Contract Total Pay For Estimate No. 10				
	This Estimate	Previous	To Date	
230120-F04				
Total Posted Items Pay	\$171,194.00	\$2,253,727.28	\$2,424,921.28	
Gross Item Adjustments	(\$54,777.15)	\$345,649.82	\$290,872.67	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	(\$6,000.00)	(\$6,000.00)	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustmer	ts \$0.00	\$0.00	\$0.00	
		<mark>\$2,593,377.10</mark>	\$2,709,793.95	
Contract Total Payable This Estimate:	\$116,416.85			

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6I3647	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$1,200,000.000	0.02	\$24,000.00
	0030	2159910	MISC.SHAPING SLOPES CLASS III-MODIFIED MATERIAL REQUIREMENT	100F	\$1,400.000	4.3	\$6,020.00
	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$14.700	61	\$896.70
	0100	5021108	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	SQYD	\$218.000	40.1	\$8,741.80
	0270	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	LF	\$350.000	180	\$63,000.00
	0280	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	LF	\$32.000	1,164	\$37,248.00
	0440	6061060	MGS GUARDRAIL	LF	\$29.000	137.5	\$3,987.50
	0470	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	EA	\$4,000.000	1	\$4,000.00
	0480	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,900.000	4	\$15,600.00
	0500	6061080	MGS END ANCHOR	EA	\$1,500.000	1	\$1,500.00



#### Pay Estimate Created Date: October 2, 2023

Pr	ogress Est Nu	imate mber	Contract ID	230120-F0	4	Pay Period Start	Septemb 2023	oer 16,	Origin	nal Contra	act Amo	<b>unt</b> \$1	3,876,495.44
	10		Prime Contractor	N.B. West Company	Contracting	Pay Period End	Septemb 2023	oer 30,	Αποι				5,000.00 3,921,495.44
Project Number	Line Number	Item Code		lt	em Description		Unit	Unit Pr	ice	Curro Installe			ent Installed Amount
J6I3647	0510	606301	4 TYPE A C	RASHWORTH	HY END TERMIN	AL (MASH)	EA	\$3,10	0.000		2		\$6,200.00
Project J6I3	647 - Total												\$171,194.00
Overall - To	tal												\$171,194.00
ontract Adju	stments TI	his Estim	<u>ate</u>										
lo Contract A ine Item Adj													
Project Lin Number No	e li	tem Descr		Adjustment Type	Other Item Adjustment	Comm	nents			djustment Quantity	Line It Adjustn		Adjustment amount

oject imber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
13647	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-365.9	\$14.70	(\$5,378.73)
	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	365.9	\$14.70	\$5,378.73
	0100	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	Material			-359	\$218.00	(\$78,262.00)
	0100	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	359	\$218.00	\$78,262.00
	0270	CONCRETE TRAFFIC BARRIER, TYPE C	Material			-997	\$350.00	(\$348,950.00
	0270	CONCRETE TRAFFIC BARRIER, TYPE C	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user dansba1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	997	\$350.00	\$348,950.00
	0280	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	Overrun			-1,164	\$32.00	(\$37,248.00
	0440	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$2,109.15
	0470	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$2,225.00
	0480	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$8,620.00
	0500	MGS END ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$825.00)
	0510	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$3,750.00
tal								(\$54,777.15)



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

		Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J6I3647	I-70-5(353)	Coldmill, resurface, and pavement repair	I-70	ST LOUIS	from Route 180 to Springdale Avenue							

#### Totals by Job Numbers

613647	This Estimate	Previous	To Date
Posted Item Pay	\$171,194.00	\$2,253,727.28	\$2,424,921.28
Gross Item Adjustments	(\$54,777.15)	\$345,649.82	\$290,872.67
Gross Item Pay	\$116,416.85	\$2,599,377.10	\$2,715,793.95
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	(\$6,000.00)	(\$6,000.00)
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 3040504, Project Item Line Number 0040, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 5021108, Project Item Line Number 0100, Material Set 502110896, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA 8 in. is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 5021108, Project Item Line Number 0100, Material Set 502110896, Material 1057JMDAEC4.11 - Dowel Assemblies Epoxy Ctd Gr40 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 5021108, Project Item Line Number 0100, Material Set 502110896, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 6131010, Project Item Line Number 0170, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 6173000, Project Item Line Number 0270, Material Set 617300096, Material 1036RSDFEC42M16 - Rein Steel EC No. 5/M16 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6I3647, Item 6173000, Project Item Line Number 0270, Material Set 617300096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Working with materials	dansba1	Overridden
Estimate Exception Type: Item Overrun: Contract 230120-F04, Contract Project J6I3647, Project Item Line Number 0280, Contract Line Item Number 0280, Item 6173600D, Minor Item.	Change order did not come back in time.	dansba1	Acknowledged

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Report Generated date and can differ from the posted arr Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
										Qty		
230120-F04	J6I3647	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$1,200,000.00	\$312,000.0
		0001	0020	2063500		103.00	0.00	103.00	EA	0.00	\$1,000.00	\$0.0
		0001	0030	2159910	MISC.SHAPING SLOPES CLASS III-MODIFIED MATERIAL REQUIREMENT	166.00	0.00	166.00	100F	22.40	\$1,400.00	\$31,360.0
		0001	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	709.00	0.00	709.00	SQYD	365.90	\$14.70	\$5,378.73
		0001	0050	4010150	TYPE A2 SHOULDER	408.00	0.00	408.00	SQYD	0.00	\$130.00	\$0.0
		0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,454.00	0.00	1,454.00	TONS	0.00	\$155.00	\$0.0
		0001	0070	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	27,907.00	0.00	27,907.00	TONS	0.00	\$155.00	\$0.0
		0001	0080	4071005		28,345.00	0.00	28,345.00	GAL	0.00	\$2.50	\$0.0
		0001	0090	4139905 5021108	MISC.SURFACE SEALING TREATMENT CONCRETE PAVEMENT ( 8 IN. NON-REINF)	97,091.00 526.70	0.00	97,091.00 526.70	SQYD SQYD	0.00	\$3.00	\$0.00 \$78,262.00
		0001	0110	6091010	CONCRETE PAVEWENT ( 8 IN. NON-REINF)	554.00	0.00	554.00	LF	440.00	\$218.00	\$76,262.0
		0001	0120	6116010A		360.00	0.00	360.00	SQYD	0.00	\$117.00	\$0.0
		0001	0120	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	1.00	5.00	6.00	EA	1.00	\$3,000.00	\$3,000.00
		0001	0140	6122020	REPLACEMENT SAND BARREL	14.00	0.00	14.00	EA	0.00	\$350.00	\$0.00
		0001	0150	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	20.00	22.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0160	6123000A		3.00	0.00	3.00	EA	1.00	\$1.00	\$1.00
		0001	0170	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	4,520.00	0.00	4,520.00	SQYD	1,033.33	\$385.00	\$397,832.05
		0001	0180	6131012	DEPTH PAVEMENT REPAIR SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	4,520.00	0.00	4,520.00	SQYD	0.00	\$5.40	\$0.00
		0001	0190	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	4,520.00	0.00	4,520.00	SQYD	710.00	\$11.25	\$7,987.50
		0001	0200	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	9,492.00	0.00	9,492.00	LF	4,903.00	\$10.00	\$49,030.00
		0001	0210	6131015	AND INTERNAL SAW CUTS) DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	2,712.00	0.00	2,712.00	EA	1,962.00	\$23.00	\$45,126.0
		0001	0220	6133018	FOR FULL DEPTH PAVEMENT REPAIR	2,520.00	0.00	2,520.00	TONS	0.00	\$155.00	\$0.00
			0230	6133019	CLASS B PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	11,338.00	0.00	11,338.00	SQYD	0.00	\$30.00	\$0.00
		0001	0240	6139911	MISC.PARTIAL DEPTH CONCRETE PAVEMENT REPAIR USING	27,956.00	0.00	27,956.00	LB	0.00	\$3.60	\$0.00
					FLEXIBLE, HOT POLYMER MODIFIED REPAIR MATERIAL							
		0001	0250	6169901		1.00	0.00	1.00	LS	0.50	\$100,000.00	\$50,000.00
		0001	0260	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	4.00	\$2,000.00	\$8,000.00
		0001	0270	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	2,370.00	0.00	2,370.00	LF	997.00	\$350.00	\$348,950.00
		0001	0280	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	3,240.00	0.00	3,240.00	LF	5,412.00	\$32.00	\$173,184.00
		0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.48	\$1,450,000.00	\$696,000.00
		0001	0300	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	88.00	0.00	88.00	LF	0.00	\$20.00	\$0.00
		0001	0310	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$300.00	\$0.00
		0001	0320	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$225.00	\$0.00
		0001	0330	6205902A		93,378.00	0.00	93,378.00	LF	0.00	\$0.26	\$0.00
		0001	0340	6205903A		63,080.00	0.00	63,080.00	LF	0.00	\$0.25	\$0.00
		0001	0350	6205906A		16,658.00	0.00	16,658.00	LF	0.00	\$1.00	\$0.00
		0001	0360	6207001	PAVEMENT MARKING REMOVAL	20,588.00	0.00	20,588.00	LF	0.00	\$0.50	\$0.00
		0001	0370	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	2.00	0.00	2.00	EA	0.00	\$25.00	\$0.0
		0001	0380	6209901	MISC.OPTIONAL TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.0
		0001	0390	6209902	MISC.INLAID PAVEMENT MARKER INSTALLATION	1,192.00	0.00	1,192.00	EA	0.00	\$53.48	\$0.0
		0001	0400	6209902	MISC.LANE REDUCTION ARROW, PREFORMED THERMOPLASTIC PAVEMENT MARKING	12.00	0.00	12.00	EA	0.00	\$1,200.00	\$0.00
		0001	0410	6209903	MISC.6 IN. TEMPORARY PAVEMENT MARKING PAINT	15,000.00	0.00	15,000.00	LF	0.00	\$0.60	\$0.00
		0001	0420	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	274,135.00	0.00	274,135.00	SQYD	0.00	\$3.00	\$0.00
		0001	0430	6261000A		642.20	0.00	642.20	STA	0.00	\$20.00	\$0.00

#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230120-F04	J6I3647	0010	0440	6061060	MGS GUARDRAIL	10,413.00	0.00	10,413.00	LF	1,750.00	\$29.00	\$50,750.00
		0010	0450	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,538.00	0.00	1,538.00	LF	0.00	\$33.00	\$0.00
		0010	0460	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	213.00	0.00	213.00	LF	0.00	\$46.00	\$0.00
		0010	0470	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	16.00	0.00	16.00	EA	6.00	\$4,000.00	\$24,000.00
		0010	0480	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	49.00	0.00	49.00	EA	15.00	\$3,900.00	\$58,500.00
		0010	0490	6061074	MGS HEIGHT AND BLOCK TRANSITION	2.00	0.00	2.00	EA	1.00	\$800.00	\$800.00
		0010	0500	6061080	MGS END ANCHOR	9.00	0.00	9.00	EA	3.00	\$1,500.00	\$4,500.00
		0010	0510	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	38.00	0.00	38.00	EA	13.00	\$3,100.00	\$40,300.00
		0010	0520	6063022	TYPE E CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$32,000.00	\$0.00
		0030	0530	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE, PROGRAMMING, AND ADJUSTMENT	1.00	0.00	1.00	LS	0.00	\$16,000.00	\$0.00
		0040	0540	9031256	7 FT. CHANNEL POST DELINEATOR, WHITE	28.00	0.00	28.00	EA	0.00	\$42.00	\$0.00
		0040	0550	9031257A	7 FT. CHANNEL POST DELINEATOR, YELLOW	26.00	0.00	26.00	EA	0.00	\$42.00	\$0.00
		0050	0560	9109903	MISC.MODOT ITS ASSET RELOCATION	1,537.00	0.00	1,537.00	LF	0.00	\$16.00	\$0.00
	Project J	J6I3647 - To	otal Value	e Posted to D	Date as of Report Generated Date							\$2,424,921.28
230120-F04 Ove	erall - Tota	I Value Pos	ted to Da	ate as of Rep	ort Generated Date							\$2,424,921.28



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

roject:	J6I3647											
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	9/29/23	10/2/23	0.02	LS	I-70 WB	447+00		494+00		447+00 (rt) and 494+00 (lt)
0030	2159910	MISC. SHAPING SLOPES	9/28/23	10/2/23	4.30	100F	EB I-70	450+00		513+00		
0040	3040504	TYPE 5 AGGREGATE FOR BASE	9/18/23	10/2/23	6.00	SQYD	I-70 EB LT	478+64		478+81		
				10/2/23	11.00	SQYD	I-70 EB RT	482+31		482+81		
			9/20/23	10/2/23	24.00	SQYD	EB I-70	494+00		515+00		
			9/29/23	10/2/23	20.00	SQYD	I-70 WB	447+00		494+00		447+00 AND 494+00
0100	5021108	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	9/18/23	10/2/23	5.60	SQYD	I-70 EB LT	478+64		478+81		
				10/2/23	11.10	SQYD	I-70 EB RT	482+31		482+81		
			9/20/23	10/2/23	23.40	SQYD	EB I-70	494+00		515+00		
0270	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	9/21/23	10/2/23	50.00	LF	I-70 EB RT	482+31		482+81		
			9/26/23	10/2/23	105.00	LF	EB I-70	494+00		515+00		
			9/29/23	10/2/23	25.00	LF	EB I-70	478+00		478+00		
0280	6173600D	TEMPORARY TRAFFIC BARRIER, CONT. FURN/RE	9/28/23	10/2/23	1,164.00	LF	WB I-70	465+00		494+00		
0440	6061060	MGS GUARDRAIL	9/28/23	10/2/23	137.50	LF	EB I-70	450+00		483+00		
0470	6061068	MGS BRIDGE APP. TRANS SEC (EXT CURB)	9/28/23	10/2/23	1.00	EA	EB I-70	450+00		450+00		
0480	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	9/28/23	10/2/23	4.00	EA	EB I-70	450+00		513+00		
0500	6061080	MGS END ANCHOR	9/28/23	10/2/23	1.00	EA	EB I-70	464+00		464+00		
0510	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9/28/23	10/2/23	2.00	EA	EB I-70	450+00		480+00		

The information below this line are details for Construction Signs (if applicable), No Data Available

Revision 3/23/2023



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J6I3647	0040	TYPE 5 AGGREGATE	Material	Туре	6	Aug 2, 2023	SYSTEM	\$2,506.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user musgrr1 overridding Payment
		FOR BASE			6	Aug 2,	SYSTEM	(\$2,506.35)	Estimate Exception 1 on the current Payment Estimate.
					7	2023 Aug 17, 2023	SYSTEM	\$3,114.93	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user dansba1 overridding Payment Estimate Evenantian 1 on the ourpart Payment Estimate
					7	Aug 17, 2023	SYSTEM	(\$3,114.93)	Estimate Exception 1 on the current Payment Estimate.
					8	Sep 6, 2023	SYSTEM	\$3,453.03	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Sep 6, 2023	SYSTEM	(\$3,453.03)	
					9	Sep 19, 2023	SYSTEM	\$4,482.03	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Sep 19, 2023	SYSTEM	(\$4,482.03)	
					10	Oct 2, 2023	SYSTEM	\$5,378.73	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Oct 2, 2023	SYSTEM	(\$5,378.73)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0040 -	Total						\$0.00	
	0100	CONCRETE PAVEMENT ( 8 IN. NON-REINF)	Material		5	Jul 17, 2023	SYSTEM	\$3,924.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user musgrr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jul 17, 2023	SYSTEM	(\$3,924.00)	
					6	Aug 2, 2023	SYSTEM	\$22,039.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user musgrr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Aug 2, 2023	SYSTEM	(\$22,039.80)	
					7	Aug 17,	SYSTEM	\$41,747.00	
						2023		φ-1,7-7.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	2023 Aug 17, 2023	SYSTEM	(\$41,747.00)	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment
						Aug 17,	SYSTEM SYSTEM		Estimate Item Adjustment (0002) due to user dansba1 overridding Payment
					7	Aug 17, 2023 Sep 6,		(\$41,747.00)	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7 8	Aug 17, 2023 Sep 6, 2023 Sep 6,	SYSTEM	(\$41,747.00) \$54,347.40	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment
					7 8 8	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19,	SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40)	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment
					7 8 8 9	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19,	SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment
					7 8 8 9 9	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19, 2023 Oct 2,	SYSTEM SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20 (\$69,520.20)	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total	7 8 8 9 9 10	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19, 2023 Oct 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20 (\$69,520.20) \$78,262.00	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
			Material - To		7 8 8 9 9 10	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19, 2023 Oct 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20 (\$69,520.20) \$78,262.00 (\$78,262.00)	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
	0100 -	Total	Material - To		7 8 8 9 9 10	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19, 2023 Oct 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20 (\$69,520.20) \$78,262.00 (\$78,262.00) \$0.00	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
	0100 - 0160	Total TRUCK OR TRAILER MOUNTED ATTEN (TMA)			7 8 8 9 9 10	Aug 17, 2023 Sep 6, 2023 Sep 6, 2023 Sep 19, 2023 Sep 19, 2023 Oct 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	(\$41,747.00) \$54,347.40 (\$54,347.40) \$69,520.20 (\$69,520.20) \$78,262.00 (\$78,262.00) (\$78,262.00) \$0.00	Estimate Item Adjustment (0002) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.



Oct 4, 2023

ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
17	0160	TRUCK OR	Material			2023			
		TRAILER MOUNTED		- Total				\$0.00	
		ATTEN (TMA)	Material - To	tal				\$0.00	
	0160 -	Total						\$0.00	
	0170	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		4	Jun 30, 2023	SYSTEM	\$141,295.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user musgrr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 30, 2023	SYSTEM	(\$141,295.00)	
					5	Jul 17, 2023	SYSTEM	\$254,485.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user musgrr1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Jul 17, 2023	SYSTEM	(\$254,485.00)	
					6	Aug 2, 2023	SYSTEM	\$272,965.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user musgrr1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Aug 2, 2023	SYSTEM	(\$272,965.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0170 -	Total						\$0.00	
	0190	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. TH	Material		4	Jun 30, 2023	SYSTEM	\$3,071.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user musgrr1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jun 30, 2023	SYSTEM	(\$3,071.25)	
					5	Jul 17, 2023	SYSTEM	\$6,378.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user musgrr1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					5	Jul 17, 2023	SYSTEM	(\$6,378.75)	
					6	Aug 2, 2023	SYSTEM	\$6,918.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user musgrr1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Aug 2, 2023	SYSTEM	(\$6,918.75)	
				- Total				\$0.00	
			Material - To	Total				\$0.00	
	0190 -	Total						\$0.00	
	0210	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		4	Jun 30, 2023	SYSTEM	\$16,054.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user musgrr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Jun 30, 2023	SYSTEM	(\$16,054.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0210 -	Total						\$0.00	
	0270	CONCRETE TRAFFIC BARRIER, TYPE C	Material		6	Aug 2, 2023	SYSTEM	\$98,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user musgrr1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Aug 2, 2023	SYSTEM	(\$98,000.00)	
					7	Aug 17, 2023	SYSTEM	\$157,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user dansba1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Aug 17, 2023	SYSTEM	(\$157,150.00)	
					8	Sep 6, 2023	SYSTEM	\$241,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user dansba1 overridding Payment Estimate Exception 6 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3647	0270	CONCRETE TRAFFIC BARRIER, TYPE	Material		9	Sep 19, 2023	SYSTEM	\$285,950.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user dansba1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		С			9	Sep 19, 2023	SYSTEM	(\$285,950.00)	
					10	Oct 2, 2023	SYSTEM	\$348,950.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user dansba1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					10	Oct 2, 2023	SYSTEM	(\$348,950.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0270 -	Total						\$0.00	
	0280	TEMPORARY TRAFFIC BARRIER,	Overrun	Overrun	8	Sep 6, 2023	SYSTEM	(\$6,912.00)	
		CONT. FURN/RE			9	Sep 19, 2023	SYSTEM	(\$25,344.00)	
					10	Oct 2, 2023	SYSTEM	(\$37,248.00)	
				Overrun - T	otal			(\$69,504.00)	
			Overrun - To	tal				(\$69,504.00)	
	0280 -	Total						(\$69,504.00)	
	0440	MGS GUARDRAIL	Construction Stockpile		6	Aug 2, 2023	SYSTEM	(\$8,436.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Sep 6, 2023	SYSTEM	(\$7,094.41)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Sep 19, 2023	SYSTEM	(\$9,203.56)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Oct 2, 2023	SYSTEM	(\$2,109.15)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$26,843.71)	
			Construction	Stockpile - 1	「otal			(\$26,843.71)	
			Construction Stockpile STMI		2	May 15, 2023	SYSTEM	\$159,727.75	Payment Estimate Item Adjustment generated Stockpile Transaction
			51101	- Total				\$159,727.75	
			Construction	Stockpile S	MI - Tota			\$159,727.75	
	0440 -	Total						\$132,884.04	
	0450	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile STMI	Stockpile STMI		May 15, 2023	SYSTEM	\$28,397.63	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT 3 IN		- Total				\$28,397.63	
		Construction Stockpile ST		MI - Tota			\$28,397.63		
	0450 -							\$28,397.63	
	0460	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5	Stockpile		2	May 15, 2023	SYSTEM	\$5,546.25	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,546.25	
			Construction	Stockpile S	MI - Tota			\$5,546.25	
	0460 -							\$5,546.25	
	0470	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		6	Aug 2, 2023	SYSTEM	(\$2,225.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Sep 6, 2023	SYSTEM	(\$6,675.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Sep 19, 2023	SYSTEM	(\$2,225.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Oct 2, 2023	SYSTEM	(\$2,225.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$13,350.00)	
			Construction	Stockpile - 1	ſotal			(\$13,350.00)	
			Construction Stockpile		2	May 15, 2023	SYSTEM	\$35,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Oct 4, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3647	0470	MGS BRIDGE	STMI	- Total				\$35,600.00	
		APP. TRANS SEC (EXT CURB)	Construction	Stockpile S	TMI - Total			\$35,600.00	
	0470 -	Total						\$22,250.00	
	0480	MGS BRIDGE APP. TRANS	Construction Stockpile		6	Aug 2, 2023	SYSTEM	(\$15,085.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		SEC (REG/NO CURB)			8	Sep 6, 2023	SYSTEM	(\$2,155.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Sep 19, 2023	SYSTEM	(\$6,465.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Oct 2, 2023	SYSTEM	(\$8,620.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$32,325.00)	
			Construction	n Stockpile - Total				(\$32,325.00)	
			Construction Stockpile		2	May 15, 2023	SYSTEM	\$105,595.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$105,595.00	
			Construction	Stockpile S	TMI - Total			\$105,595.00	
	0480 -	Total		_				\$73,270.00	
	0490	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		8	Sep 6, 2023	SYSTEM	(\$403.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$403.75)	
			Construction	truction Stockpile - Total					
			Construction Stockpile STMI		2	May 15, 2023	SYSTEM	\$807.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$807.50	
			Construction	Stockpile S	TMI - Total			\$807.50	
		Total MGS END	Construction		0	0	OVOTEM	\$403.75	Der mannt Entimente Mare Auflischer ant eine einte di Ota der ille Terrena etilier
	0500	ANCHOR	Stockpile		8	Sep 6, 2023	SYSTEM	(\$825.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Sep 19, 2023	SYSTEM	(\$825.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Oct 2, 2023	SYSTEM	(\$825.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,475.00)	
			Construction	। Stockpile - ⊺		14 45	OVOTEN	(\$2,475.00)	
			Construction Stockpile STMI		2	May 15, 2023	SYSTEM	\$7,425.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$7,425.00	
			Construction Stockpile STMI - Total					\$7,425.00	
		Total						\$4,950.00	
	0510	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		6	Aug 2, 2023	SYSTEM	(\$13,125.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)			8	Sep 6, 2023	SYSTEM	(\$3,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Sep 19, 2023	SYSTEM	(\$3,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Oct 2, 2023	SYSTEM	(\$3,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total					
			Construction Construction Stockpile STMI	Stockpile - 1		M. 17	over	(\$24,375.00)	Description of Entry Advantage of the second s
					2	May 15, 2023	SYSTEM	\$71,250.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total on Stockpile STMI - Total				\$71,250.00	
	0540	Total	Construction	Stockpile S	rwii - Total			\$71,250.00	
			Construction		1	May 1	SVSTEM	\$46,875.00	Payment Estimate Item Adjustment generated Stackhile Transastics
	0520	ITPEE	Construction		1	May 1,	SYSTEM	\$45,800.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Oct 4, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3647	0520	CRASHWORTHY END TERMINAL (MASH)				2023			
				- Total				\$45,800.00	
			Construction	Stockpile S1	MI - Total			\$45,800.00	
	0520 -	Total						\$45,800.00	
J6I3647 -	Total						\$290,872.67		
Overall -	Total						\$290,872.67		



## Contract Adjustments for Contract - 230120-F04

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
6	J6I3647	Disincentive		(\$6,000.00)	100	Aug 2, 2023	musgrr1	Last pavement repair installed by RV Wagner had not gotten open to traffic strength by 5 AM. MoDOT told NB West to pull the double lane drop closure to a single lane drop to help with increased traffic flow (Morning rush hour). The last pavement repair got "open to traffic strength" at 6 AM. Immediately after that, NB West began picking up the lane drop. All lanes were opened by 6:30 AM.
6 - Total					(\$6,000.00)			
Overall -	Total				(\$6,000.00)			